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for the questions

( New Course )
( Programme and Problem Solving with C)

Full Marks : 48
Pass Marks : 14

Time : 2 hours

1. Answer the following questions? 1x5=5
(@) What is keyword?
(b) What is constant?
() Name the storage classes in C.
(d) What is union?
(e) What is string?
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(2)
2.
| Answer the following questions
(@) Writ i )
b fd the .dltferences betwe hil
0-while’ loops e
(b) Write
the differ,
. . e
- and 4f Statementr;‘:es between ‘switch’
(¢) Define Structure
d Wh i |
at are bitwige Operatorg?
(e) What is type castingp
g
3. Answ
er
any three of the follg
Wing questions :
@ @ Explain -
With
. use of loops ir:a Xg.mples sbout the
i) Write '
a ¢ gram
factona.l o o ;
0 “f Mimber using recursion
7 Write 5 ¢ pro ' e
8iven sty g lgramto ¢ whether 2
B Wi, o S Palindrome or not.
of al] g TOogram tq fi
| gits o - Ind the sum
© 0 Wt . Positive number
o Pro
ar:‘t“'e numbe?:m to add the
. Stored in an
(@) Write ac g
st ro
Tacture v oo copy the
stry arigh] t
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(d)

(e)

1P7/421

Y Y o PPT lﬂd‘i

()

(@

(iii)

()
(@

(id)

{3)

Write a C program to display all the
even numbers between 100
and 200. 4
Write a C program to display
numbers between 1 to 100 which
are divisible by 7. 4
Explain three string handling
functions. 3
Define pointers and files in C. 4
Writé C program to display the
following : : 4

1 * ‘

2 * ¥

3. x ¥ *

4. * * * *

5 =* * k ¥k 0¥
Mention the. differences between
break and continue statements. 3
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1. '
Select the correct optig
n :
(@) The

(b)
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Pass Marks : 30

Time; 3 hours

Power gset o8
S:{S’ {]’ 4}’ 5} is 2

V18314035,

L 4,5} (3 4, ¢

. {3 5}, ¢
() None of the aboye

If

A:{l’
C={13 4 5%3’ %,
equal tg 7,

B ={2’ 3’ 4} 5}’
then An@ByC) is

O 457
@ 4,2 3 4
i) 235
i) {1, o 3.6

1x8

of the set

(©

(@)

(e)
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If A is a finite set with n elements, the

number of elements in the largest

equivalence relation of A is

w1 @ n

(i) n? (iv) n+l

If R be a symmetric and transitive

relation on a set A, then

(i) R is reflexive and hence an
equivalence relation

(@) R is reflexive and. hence a partiél

order
(i) R is not reflexive and hence not an

equivalence relation
(iv) None of the above
ff:A _, B be a function, and let E and
F be subset of 4, consider the following
statement about image :

s, : FEVF)=fE) fF)

S, : fEnF)=fEN fF)
Which of the following is ‘true’ about S .
and Sy
(i) Only S, is correct
(i) Only S, is correct
(i) Both S and S, are correct
(iv) None of S and S, are correct
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(6) - (7))
@ ¥ n clements are to ; 2. Answer any four of the following questions :
mer; be sorted using y f
¢ sort, the worst case time 4x4-16
complexity could be (@ Show that
(7} ow tha
U]
o An(B-C)=(AnB)-(AnC)
@ ofy
' (b) Solve the recurrence relation
(@) Oflog,, n) _ e
(‘ 2 tn ="'4'(tn,--1 n-2
" O ) subject to initial condition t, =1 for
n=0and n=L :
(9) 3;111; Number of distinct simp] h .
Up to three node is pie grap () Find the generating function of a
) 10 sequence
1
i e _,r=012
15 @ =T+
(11}
(i) 7 . . s
@) 9 (d) Find the coefficient of X in
: (x +x2 P Fx5)x? +x% +x* +0)°
? ’;‘g‘em&ln mber of eq < in O@*) but 3 is siot in
Ph of Vertices jg £¢S1n a complete () Show that2” isin OB ) bu
(i) n, O(Zx)-
@ g () A connected planar graph has 6 vertices
each of degree 4. Determine the number
@) n2 _; of regions into which this planar graph
' be splitted.
(iv) n(n_l) can %
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then

Prove that (he g

of::ho(gon.

) Show
i n::}:l ca connected planar eraph
face °8 and e edges has e —glr‘z -I: 2
(@ Explain
grapn, | ¢ Shortest paty
Ph. algorithm of 2
(d) Use
gen :
I'ecun. eratlng functlo
€nce relation N to solve the
| an+2“2an+l +an =2u a 2
. » ¥o = a =7
(e) ) * M
IfWh;: - meant by o
-\ =+ 1)log(y2 , . of functions?
gro 8x* +1
Wthof £,y b estimate the
)  Exola:
ipnl'aln floor d ceit
graph elllng functiOn s Wi th

f N i na léd
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(9)

(g Use recursive formula of summation
together with mathematical induction to

prove that for all positive integers n, if

a;, ay, -, Qn and c are real numbers,

then

(h) What are tautology and logical
equivalence? Show that

[(pAq)v(qAr)v(rAp)lé[(pvq)A(qu)A(rVP)]

() What is spanning tree? Write the
d a minimum spanning

algorithm to fin :
tree for connected weighted graph with

n vertices and m edges.

e function? If the function

() Whatis invers
flg=x%+3,

f:R—-R be defined by
then find f~1(3) and f7'0L1)
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